EISEAARFAREYSE RINESE

BRES HEES vz 3> v 3a>>-—v% AH S| =15 B MEZ  RRE
10000 006-2 —fgE 06 JUH—-2J0O2 9A20H(%) 10:50~11:50 4= 1F 2
10001 007-3 —fxE 07 BRE 9H20H(%&) 09:10~10:10 5% 4F =EZ407 3
10002 @ P02-2 iR (RX5—) 2 1EEC ke 9H21H(LX) 16:50~17:20 KRRXY—=% 1F  RRZAB

10003 009-5 —figxE 09 mBAFL 9H20H(%E) 15:25~16:25 515 4F =EZE407 5
10004 010-1 —fgE 10 EHHWEAZT2 9A21H(*) 08:55~09:45 3= 2F  JIR— 1
10005 005-3 —fixE 05 JUY—-2J0O1 9H20H(%&) 09:10~10:10 4= 1F  ERBC 3
10006 @ P04-1 iR (RX5—) 4 EFEE - REF 9H21H(LX) 16:50~17:20 KRRY—=% 1F  RBRZAB

10007 0O01-1 —ARE 01 E{R(1£HRER) 9H20H(%&) 09:10~10:10 2= 2F  H7R— 1
10008 @ P06-09 iR (RX5—) 6 GEBIERES 9H21H(Lx) 16:50~17:20 KRRY—=% 1F  RBRZAB

10009 @ P05-5 iR (RX5—) 5 iy 9821H(LX) 16:50~17:20 RRAI—=15 1F  FRBAB

10010  0O13-4 —fgE 13 Fir (Zoof) 1 9A21H(*) 08:55~09:45 5215 4F =EZ=E407 4
10011 002-1 —#ARE 02 EREfAzR1 9H20H(%&) 09:10~10:10 3% 2F  JIR— 1
10012 008-5 —fgE 08 fHEF 9A20H(%) 10:50~11:50 5% 4F =EZE407 5
10013 = P03-5 iR (RX5—) 3  BRE - BYpaE 9821H(LX) 16:50~17:20 RRAI—=15 1F  ERBAB

10014 005-6 —fgE 05 JUY¥—-2J0O1 9A20H(%) 09:10~10:10 4=im 1F  RBREC 6
10015 = P04-5 iR (RX5—) 4 BEFEE - RE 9821H(LX) 16:50~17:20 RRAI—=15 1F  ERBAB

10016 @ P06-05 iR (RX5—) 6 GEBIERES 9H21H(Lx) 16:50~17:20 KRRY—=% 1F  RBRZAB

10017 007-1 —AROE 07 BRE 9H20H(%&) 09:10~10:10 5% 4F =EZ407 1
10018 009-4 —fgE 09 PEAFTL 9A20H(%E) 15:25~16:25 5215 4F =EZ=E407 4
10019 012-4 —MROE 12 GEFIEREL 9H21H(*) 15:05~15:55 ZE3=1E 2F  JR— 4
10020 004-2 —fgE 04 &% - QOLF 9A20H(%E) 15:25~16:25 3R 2F  JIR— 2
10021 0O15-5 —fxE 15 PEAFIMT2 9A21H(L) 15:05~16:05 E5=1% 4F =EZ407 5
10022 005-1 —fgAE 05 JUY¥—-2J0O1 9A20H(%£) 09:10~10:10 4= 1F  RBREC 1
10023 0O14-1 —HROE 14 s (Zoofh) 2 9H21H(*) 13:20~14:20 5515 4F =EZE407 1
10024  P02-1 iR (RX5—) 2 1EEC ke 9H21H(LX) 16:50~17:20 KRRY—2% 1F  RBRZAB

10025 007-6 —fxE 07 BRE 9H20H(%&) 09:10~10:10 5% 4F =EZE407 6
10026 = P04-3 iR (RX5—) 4 EFEE - REF 9H21H(Lx) 16:50~17:20 KRRY—=% 1F  RBRZAB

10027 P03-3 FfiERr (RX5—) 3 BRE - e 9821H(LX) 16:50~17:20 RAI—=15 1F  EBRBAB

10028 @ P02-6 iR (RX5—) 2 1EEC ke 9H21H(Lx) 16:50~17:20 KRRXY—=% 1F  RRZAB

10029 008-3 —figxE 08 HEF 9H20H(%&) 10:50~11:50 5% 4F =EZE407 3
10030 008-1 —fgE 08 fHEF 9A20H(%) 10:50~11:50 5% 4F =EZ=E407 1
10031 PO5-1 ZFfiER (RX5—) 5 iy 9H21H(LX) 16:50~17:20 RRF—=5 1F  FRBAB

10032  016-4 —fgE 16 FEY)aE 9A22H(H) 10:15~11:05 2= 2F  H/R—JL 4
10033 017-6 —fixE 17 fEBIERE2 9H22H(H) 10:15~11:15 3% 2F  /JVIR— 6
10034 014-4 —fg&E 14 Fr (Zoft) 2 9A21H(E) 13:20~14:20 5% 4F =EZ=E407 4
10035 002-2 —figxE 02 EREfAzR1 9H20H(%&) 09:10~10:10 3% 2F  JIR— 2
10036 018-1 —fgE 18 MIGS 9A22H(H) 10:15~11:05 5% 4F =EZ=E407 1
10037 O11-3 —iROE 11 E{R(ATERER) 9H21H(*) 13:20~14:10 355 2F  /JVIR— 3
10038  012-1 —fg&E 12 GEFIERES1 9A21H(*) 15:05~15:55 ZE3xiE 2F  JIR— 1
10039 015-6 —fxE 15 PEAFIMT2 9A21H(L) 15:05~16:05 =E5=1% 4F =EZ407 6
10040 0O14-2 —fgE 14 Fr (Zof) 2 9A21H(E) 13:20~14:20 5215 4F =EZE407 2
10041 002-4 —fxE 02 EREAzR1 9H20H(%&) 09:10~10:10 3% 2F  JIR— 4
10042  PO1-1 iR (RX5—) 1 BT 9H21H(Lx) 16:50~17:20 KRRY—=% 1F  RBRZAB

10043 013-2 —ixOE 13 e (=oofB) 1 9H21H(L) 08:55~09:45 ZE5=1% 4F =EZ407 2
10044 003-1 —fgE 03 L—Y-— 9A20H(%) 10:50~11:50 3= 2F  JIR— 1
10045  P02-7 iR (RX5—) 2 IBEEtkEE 9H21H(LX) 16:50~17:20 RRAF—=5 1F  ERBAB

10046 @ P06-01 @R (RX45—) 6 GEfIERES 9H21H(Lx) 16:50~17:20 KRRY—2% 1F  RBRZAB

10047 003-2 —fxE 03 L—Y— 9H20H(%&) 10:50~11:50 3% 2F  JIR— 2
10048 004-1 —fgE 04 &% - QOLF 9A20H(%E) 15:25~16:25 3= 2F  /JIR— 1
10049 001-2 —fxE 01 E{R(1£RER) 9H20H(%&) 09:10~10:10 ZE2=45 2F  H7R— 2
10050 O11-4 —fgE 11 E{R(RIERER) 9A21H(*) 13:20~14:10 3= 2F  JIR— 4




EISEAARFAREYSE RINESE

BRES HEES vz 3> v 3a>>-—v% AH S| =15 B MEZ  RRE
10051 017-4 —fg&E 17 JEFIFRE2 9A22H(H) 10:15~11:15 3% 2F  JIR— 4
10052 P05-2 ZFffiER (RX5—) 5 iy 9821H(LX) 16:50~17:20 RRAI—=15 1F  EBRBAB

10053 003-3 —fgAE 03 L—Y-— 9A20H(%) 10:50~11:50 3= 2F  JIR— 3
10054 @ P06-14 MR (RX5—) 6 EGIFRES 9821H(LX) 16:50~17:20 RRAI—=15 1F  ERBAB

10056 @ 007-4 —fgE 07 BRE 9A20H(%) 09:10~10:10 5% 4F =EZ=E407 4
10057 006-5 —figxE 06 JUHY—-2J02 9H20H(%&) 10:50~11:50 4= 1F  ERBC 5
10058 018-4 —fg&E 18 MIGS 9A22H(H) 10:15~11:05 5% 4F =EZ=E407 4
10059 0O15-1 —iRAE 15 PEAFIMT2 9A21H(L) 15:05~16:05 E5=1% 4F =EZ407 1
10060 001-4 —fgE 01 EfR(1ZHRER) 9A20H(%) 09:10~10:10 2= 2F  H/R—JL 4
10061 @ P06-07 iR (RX5—) 6 EGIFRES 9821H(LX) 16:50~17:20 RRAI—=15 1F  ERBAB

10062 006-6 —fgE 06 JUH—-2J0O2 9A20H(%) 10:50~11:50 4= 1F  RBREC 6
10063 005-5 —fixE 05 JUY—-2J0O1 9H20H(%&) 09:10~10:10 4= 1F  ERBC 5
10064 009-3 —fgE 09 PEAFTL 9A20H(%E) 15:25~16:25 5215 4F =EZ=E407 3
10065 @ P06-02 iR (RX5—) 6 TEGIFRES 9821H(LX) 16:50~17:20 RRAI—=15 1F  ERBAB

10066 @ 006-1 —fgE 06 JUH—-2J0O2 9A20H(%) 10:50~11:50 4= 1F  RBREC 1
10067 010-5 —AxE 10 EHhErAZT2 9H21H(L) 08:55~09:45 ZE3=1E 2F  /JIR— 5
10068 @ P05-6 iR (RX5—) 5 il 9H21H(Lx) 16:50~17:20 KRRY—2% 1F  RRZAB

10069 P03-4 ZFfiER (RX5—) 3 BRE - ek 9821H(LX) 16:50~17:20 RAI—=15 1F  EBRBAB

10070 @ P06-04 iR (RX5—) 6 GEBIERES 9H21H(LX) 16:50~17:20 KRRY—=% 1F  RBRZAB

10071 P04-4 ZFiER (RX5—) 4 EFEE - RE 9821H(LX) 16:50~17:20 RRAI—=15 1F  EBRBAB

10073 = P04-2 iR (RX5—) 4 EFEE - REF 9H21H(Lx) 16:50~17:20 KRRY—=% 1F  RBRZAB

10074 016-2 —fixE 16 FYpeE 9H22H(H) 10:15~11:05 2= 2F  H7R— 2
10075 O11-1 —fgE 11 E{R(ATERER) 9A21H(*) 13:20~14:10 3= 2F  JIR— 1
10076 0O16-1 —fxE 16 FYpEE 9H22H(H) 10:15~11:05 2= 2F  H7R— 1
10077 004-6 —fgE 04 &% - QOLF 9A20H(%£) 15:25~16:25 3215 2F  JIR— 6
10078 009-1 —#xE 09 mEAFiIL 9H20H(%&) 15:25~16:25 515 4F =EZ407 1
10079 016-5 —fg&E 16 FEY)aE 9A22H(H) 10:15~11:05 2= 2F  H/R—JL 5
10080 003-5 —fixE 03 L—Y— 9H20H(%&) 10:50~11:50 3% 2F  /JVIR— 5
10081 008-2 —fgE 08 fHEF 9A20H(%) 10:50~11:50 5% 4F =EZ=E407 2
10082 003-4 —fxE 03 L—Y— 9H20H(%&) 10:50~11:50 3% 2F  JR— 4
10083 @ 007-2 —fgE 07 BRE 9A20H(%) 09:10~10:10 5% 4F =EZ=E407 2
10084 017-3 —ixOE 17 fEBIERE2 9A22H(H) 10:15~11:15 3% 2F  JIR— 3
10086 @ 001-3 —fgE 01 EfR(12HRER) 9A20H(%) 09:10~10:10 2= 2F  H/R—JL 3
10087 001-5 —fgxE 01 E{R(1£RER) 9H20H(%&) 09:10~10:10 2= 2F  H7R— 5
10088 017-2 —fg&E 17 GEFIERE2 9A22H(H) 10:15~11:15 3% 2F  JIR— 2
10089 009-6 —fxE 09 mEAFiIL 9H20H(%£) 15:25~16:25 515 4F =EZ407 6
10090 0O12-2 —fgAE 12 GEFIERES1 9A21H(*) 15:05~15:55 3= 2F  JIR— 2
10091 015-2 —fRE 15 PEAFIMT2 9A21H(L) 15:05~16:05 E5=1% 4F =EZ407 2
10092 @ P06-06 iR (RIX5—) 6 GEBIERES 9H21H(LX) 16:50~17:20 KRRY—=% 1F  RBRZAB

10093  P05-3 iR (RX5—) 5 iy 9821H(LX) 16:50~17:20 RRAI—=15 1F  ERBAB

10094 @ P06-15 iR (RX5—) 6 GEBIERES 9H21H(Lx) 16:50~17:20 KRRXY—=% 1F  RRZAB

10095 002-6 —figxE 02 EREAzR1 9H20H(%&) 09:10~10:10 3% 2F  JIR— 6
10096 @ 009-2 —fgE 09 PEAFTL 9A20H(%&) 15:25~16:25 5215 4F =EZ=E407 2
10097 004-3 —fxE 04 &% - QOLE 9H20H(%E) 15:25~16:25 3= 2F  JIR— 3
10098 @ P05-7 iR (RX5—) 5 il 9H21H(Lx) 16:50~17:20 RRY—=% 1F  RBRZAB

10099 P03-2 ZFfiER (RX5—) 3 BRE - e 9821H(LX) 16:50~17:20 RRAI—=15 1F  EBRBAB

10100 @ P05-8 iR (RX5—) 5 il 9H21H(LX) 16:50~17:20 KRRY—=% 1F  RBRZAB

10101  P06-13 iR (RX5—) 6 | EGIFRES 9H21H(LX) 16:50~17:20 RAI—=15 1F  EBRBAB

10102 = P02-3 iR (RX5—) 2 EiECtkEe 9H21H(LX) 16:50~17:20 KRRY—2% 1F  RBRZAB

10103 014-3 —iROE 14 e (Zoofh) 2 9H21H(L) 13:20~14:20 5515 4F =EZ407 3
10104 O13-1 —fgAE 13 Fir (Zoof) 1 9A21H(*) 08:55~09:45 5% 4F =EZE407 1




EISEAARFAREYSE RINESE

BRES HEES vz 3> v 3a>>-—v% AH S| =15 B MEZ  RRE
10105 @ P03-1 iR (RX5—) 3 BRE - BaE 9H21H(Lx) 16:50~17:20 KRRY—=% 1F  RBRZAB

10106 = P02-4 iR (RX5—) 2 EBEEtkEE 9H21H(LX) 16:50~17:20 RRAF—=5 1F  ERBAB

10107 0O15-3 —fg&E 15 BBAIFiMT2 9A21H(*) 15:05~16:05 521 4F =EZ=E407 3
10108 012-5 —fgxE 12 GEFIERE1 9A21H(L) 15:05~15:55 ZE3=1E 2F  /JVIR— 5
10109 013-3 —fgE 13 Fir (Zoof) 1 9A21H(*) 08:55~09:45 515 4F =EZ=E407 3
10110  O14-6 —HRE 14 St (Zoofh) 2 9H21H(L) 13:20~14:20 5515 4F =EZE407 6
10111 002-3 —fgE 02 EiEAZR1 9A20H(%) 09:10~10:10 3= 2F  JIR— 3
10112 008-6 —fixiE 08 HEF 9H20H(%&) 10:50~11:50 5% 4F =EZE407 6
10113  018-3 —fg&E 18 MIGS 9A22H(H) 10:15~11:05 5% 4F =EZ=E407 3
10115  0O17-1 —HROE 17 GEBIERE2 9H22H(H) 10:15~11:15 %3515 2F  JIR— 1
10116 = P06-03 iR (RX5—) 6 GEBIERES 9H21H(LX) 16:50~17:20 KRRY—=% 1F  RBRZAB

10117 | P06-12 iR (RX5—) 6 EGIFRES 9821H(LX) 16:50~17:20 RRAI—=15 1F  EBRBAB

10118 016-3 —fg&E 16 FEY)aE 9A22H(H) 10:15~11:05 2= 2F  H/R—JL 3
10119 0154 —fiROE 15 PEAFIMT2 9A21H(L) 15:05~16:05 E5=1% 4F =EZ407 4
10120  0O17-5 —fgE 17 JEFIFRE2 9A22H(H) 10:15~11:15 %321 2F  JIR— 5
10121 O11-2 —HROE 11 E{R(ATERER) 9H21H(L) 13:20~14:10 355 2F  /JIR— 2
10122  012-3 —fgAE 12 GEFIERES1 9A21H(*) 15:05~15:55 ZE3xiE 2F  JIR— 3
10123 P05-4 ZFfiER (RX5—) 5 iy 9821H(LX) 16:50~17:20 RRAI—=15 1F  ERBAB

10124  007-5 —fg&E 07 BRE 9A20H(%) 09:10~10:10 5% 4F =EZ=E407 5
10125 O11-5 —HRO&E 11 E{R(ATERER) 9H21H(L) 13:20~14:10 355 2F  JR— 5
10126 = 004-5 —fgE 04 &% - QOLF 9A20H(%E) 15:25~16:25 3R 2F  JIR— 5
10127 | P06-10 iR~ (RX5—) 6 TEGIFRES 9821H(LX) 16:50~17:20 RRAI—=5 1F  EBRBAB

10128 @ P02-5 iR (RX5—) 2 EEE ke 9H21H(Lx) 16:50~17:20 KRRXY—=% 1F  RBRZAB

10129  P06-11 #*fiERr (RX5—) 6 EGIFRES 9821H(LX) 16:50~17:20 RRAI—=5 1F  EBRBAB

10130 003-6 —fgE 03 L—Y-— 9A20H(%) 10:50~11:50 3= 2F  JIR— 6
10131 013-5 —ixE 13 e (=oofB) 1 9H21H(L) 08:55~09:45 E5=1% 4F =EZ407 5
10132 008-4 —fg&E 08 fHEF 9A20H(%) 10:50~11:50 5% 4F =EZ=E407 4
10133 001-6 —fxE 01 E{R(1£ARER) 9H20H(%&) 09:10~10:10 2= 2F  H7R— 6
10134 002-5 —fgE 02 EiEAZR1 9A20H(%) 09:10~10:10 3= 2F  JIR— 5
10135 005-4 —figxE 05 JUY—-2J0O1 9H20H(%&) 09:10~10:10 4= 1F  ERBC 4
10136 = 006-3 —fgE 06 JUH—-2J0O2 9A20H(%) 10:50~11:50 4= 1F  RBREC 3
10137 PO1-4 ZFfiER (RX5—) 1 EBREAR 9821H(LX) 16:50~17:20 RAI—=15 1F  EBRBAB

10138 010-4 —fgE 10 EHHWEAZT2 9A21H(*) 08:55~09:45 ZE3x1E 2F  JIR— 4
10139 P01-2 ZFiER (RX5—) 1 EREAR 9821H(LX) 16:50~17:20 RRAI—=15 1F  EBRBAB

10140 010-3 —fgAE 10 EHHhEAZT2 9A21H(*) 08:55~09:45 3= 2F  JIR— 3
10141 018-2 —ixOE 18 MIGS 9H22H(H) 10:15~11:05 E5%1% 4F =EZ407 2
10142  005-2 —fgE 05 JUY¥—-2J0O1 9A20H(%) 09:10~10:10 4= 1F  RBREC 2
10143 004-4 —HgVE 04 &% - QOLE 9H20H(s%E) 15:25~16:25 %3515 2F  /JVIR— 4
10144  P06-08 *ffi@r (RX5—) 6 GEBIERES 9H21H(LX) 16:50~17:20 KRRY—=% 1F  RBRZAB

10145 018-5 —fix&E 18 MIGS 9H22H(H) 10:15~11:05 E5%1% 4F =EZ407 5
10146 014-5 —fg&E 14 Fr (Zof) 2 9A21H(E) 13:20~14:20 5215 4F =EZE407 5
10147 006-4 —fxE 06 JUHY—-2J02 9H20H(%&) 10:50~11:50 4= 1F  ERBC 4
10148 @ P01-3 iR (RX5—) 1 BT 9H21H(Lx) 16:50~17:20 KRRY—=% 1F  RBRZAB

10149 010-2 —MROE 10 EHhErAZT2 9H21H(L) 08:55~09:45 E3=1E 2F  JIR— 2




